

PROCUREMENT

IFB No. 05-01-24-11 Addendum 2 South Florida Utilities,Inc Supplier Response

Event Information

Number:	IFB No. 05-01-24-11 Addendum 2
Title:	Maintenance Access Structure and Wet Well Rehabilitation
Туре:	Invitation for Bids
Issue Date:	3/31/2024
Deadline:	5/1/2024 11:00 AM (ET)

Contact Information

Contact: Randolph Merchant Procurement Analyst Address: A/P - Finance & Administrative Services Government Center 4800 West Copans Road Coconut Creek, FL 33063 Phone: 1 (954) 956-1499 Email: RMerchant@coconutcreek.net

South Florida Utilities, Inc Information

Contact:	Mark Carpenter, President
Address:	736 NW 8th Avenue
	Ft Lauderdale, FL 33311
Phone:	(954) 525-3751
Fax:	(954) 525-3752
Email:	sfluinc@yahoo.com

By submitting your response, you certify that you are authorized to represent and bind your company.

Mark G. Carpenter Signature Submitted at 5/1/2024 10:47:44 AM (ET) sfluinc@yahoo.com

Email

Response Attachments

IFB No. 05-01-24-11 BID Attachments FINAL.pdf

Bid Attachments

Bid Attributes

1	Solicitation Acknowledgement Vendor has examined the Invitation for Bid in its entirety, including any addenda and understands in order to receive consideration, vendor shall adhere to the instructions outlined in the solicitation for submitting a response. If Yes
2	Section I General Terms and Conditions I acknowledge reading and understanding the General Terms and Conditions. ☑ Yes
3	Section II Special Terms and Conditions I acknowledge reading and understanding the Special Terms and Conditions. Ves
4	Section III Detailed Specifications I acknowledge reading and understanding the Detailed Specifications.

Convicted / Suspended / Discriminatory / Complaints Vendor Lists

An Offeror who is on any of the following lists is ineligible for award of the contract, and may not submit a response. A response submitted by an Offeror that is on any of these lists shall be rejected without further consideration. A person or affiliate who was placed on the convicted offenders list following a conviction of a public entity crime may not submit bids on leases of real property to a public entity, may not be awarded or perform work as a contractor, supplier, subcontractor or consultant under a contract with any public entity, and may not transact business with any public entity in excess of the threshold amount provided in F.S. § 287.017 for category two for a period of 36 months following the date of being placed on the convicted vendor list. FLORIDA DEPARTMENT OF MANAGEMENT SERVICES: Convicted Vendor List [pursuant to Section 287.133(3)(d), Florida Statutes] Suspended Vendor List (pursuant to Rule 60A-1.006, Florida Administrative Code) Discriminatory Vendor List Federal Excluded Parties List [pursuant to Sections 287.057(1), (2) and (3), Florida Statutes, and Rule 60A-1.006(1), Florida Administrative Code. Vendor Complaint List (end list) Offeror affirms that they are not one any of these lists (Convicted Vendor List, Suspended Vendor List, Federal Excluded Parties List, Vendor Complaint List). and that no action or inaction has been taken to warrant inclusion on any of these lists.

🗸 I Affirm

6 Purchase by Other Governmental Agencies

If the Bidder is awarded a contract as a result of this bid document, Contractor will, if Contractor has sufficient capacity or quantities available, provide to other governmental agencies, so requesting, the products or services awarded in accordance with the terms and conditions of the bid document and resulting contract. Prices shall be F.O.B. delivered to the requesting agency. Please indicate if you will permit other governmental entities to purchase services from your Agreement with the City of Coconut Creek.

Yes

7 Labor Harmony

Contractor agrees that all labor employed by Contractor, its agents or subcontractors for work on City property must be in harmony with all other labor being used by City or other contractors working on City's property. Contractor agrees to give City immediate notice of any threatened or actual dispute and will provide assistance as determined necessary by City to resolve any such dispute. Contractor, its agents or subcontractors, will remove from City's property any person objected to by City in association with the work.

✓ I Agree

8 Verification of Employment Status

The successful Bidder affirms to comply with Section 448.095, Fla. Stat., "Employment Eligibility," including the registration and use of the E-Verify system to verify the work authorization status of employees. Failure to comply with Section 448.095, Fla. Stat. shall result in termination of the contract. Any challenge to termination under this provision must be filed in the Circuit Court no later than 20 calendar days after the date of termination. If the contract is terminated for a violation of the statute by the successful proposer, the successful bidder may not be awarded a public contract for a period of one (1) year after the date of termination.

🗸 I Affirm

9 Conflict of Interest

Bidder affirms that they read and understand Florida Statute 112.313, Standards of conduct for public officers, employees of agencies, and local government attorneys. For purposes of determining any possible conflicts of interest, all respondents must disclose if any City of Coconut Creek employee is also an owner, or employee of their business. If yes, give person(s) names(s) and position(s) and you must file a statement with the Supervisor of Elections, pursuant to Florida Statutes 112.313 with your business.

none

Bid Lines

1	Rehabilitation with	th Epoxy- 60mils				
	Quantity: 1000	UOM: Square Feet	Unit Price:	\$23.00	Total:	\$23,000.00

Quantity: 1000 UOM: Square Feet Unit Price: \$17.00 Total: \$17,000 3 Bench/Mud Work Quantity: 100 UOM: Square Feet Unit Price: \$70.00 Total: \$7,000 4 Rings and Covers Quantity: 10 UOM: Each Unit Price: \$1,402.80 Total: \$14,028 5 Bypass Pumping - 1 invert Quantity: 5 UOM: Days Unit Price: \$800.00 Total: \$44,000 6 Bypass Pumping - 2 inverts. Quantity: 5 UOM: Days Unit Price: \$800.00 Total: \$44,000 7 Removal of existing pump, rail, base saddle, etc. Quantity: 10 UOM: Each Unit Price: \$1,503.96 Total: \$15,035 8 Vacuum Pressure clean wet well 9 9 9 9 9	
Quantity: 100 UOM: Square Feet Unit Price: \$70.00 Total: \$70.00 4 Rings and Covers Quantity: 10 UOM: Each Unit Price: \$1,402.80 Total: \$14,028 5 Bypass Pumping - 1 invert Quantity: 5 UOM: Days Unit Price: \$800.00 Total: \$4,000 6 Bypass Pumping - 2 inverts. Quantity: 5 UOM: Days Unit Price: \$800.00 Total: \$4,000 7 Removal of existing pump, rail, base saddle, etc. Quantity: 10 UOM: Each Unit Price: \$1,503.96 Total: \$15,039).00
 A Rings and Covers Quantity: <u>10</u> UOM: <u>Each</u> Unit Price: <u>\$1,402.80</u> Total: <u>\$14,028</u> 5 Bypass Pumping - 1 invert Quantity: <u>5</u> UOM: <u>Days</u> Unit Price: <u>\$800.00</u> Total: <u>\$4,000</u> 6 Bypass Pumping - 2 inverts. Quantity: <u>5</u> UOM: <u>Days</u> Unit Price: <u>\$800.00</u> Total: <u>\$4,000</u> 7 Removal of existing pump, rail, base saddle, etc. Quantity: <u>10</u> UOM: <u>Each</u> Unit Price: <u>\$1,503.96</u> Total: <u>\$15,038</u> 	
Quantity: 10 UOM: Each Unit Price: \$1,402.80 Total: \$14,028 5 Bypass Pumping - 1 invert Quantity: 5 UOM: Days Unit Price: \$800.00 Total: \$4,000 6 Bypass Pumping - 2 inverts. Quantity: 5 UOM: Days Unit Price: \$800.00 Total: \$4,000 7 Removal of existing pump, rail, base saddle, etc. Quantity: 10 UOM: Each Unit Price: \$1,503.96 Total: \$15,038).00
5 Bypass Pumping - 1 invert Quantity: 5 UOM: Days 6 Bypass Pumping - 2 inverts. Quantity: 5 UOM: Days Vinit Price: \$800.00 Total: \$4,000 7 Removal of existing pump, rail, base saddle, etc. Quantity: 10 UOM: Each	
Quantity: 5 UOM: Days Unit Price: \$800.00 Total: \$4,000 6 Bypass Pumping - 2 inverts. Quantity: 5 UOM: Days Unit Price: \$800.00 Total: \$4,000 7 Removal of existing pump, rail, base saddle, etc. Quantity: 10 UOM: Each Unit Price: \$1,503.96 Total: \$15,039	3.00
6 Bypass Pumping - 2 inverts. Quantity: 5 UOM: Days 7 Removal of existing pump, rail, base saddle, etc. Quantity: 10 UOM: Each Unit Price: \$1,503.96 Total: \$15,039	
Quantity: 5 UOM: Days Unit Price: \$800.00 Total: \$4,000 7 Removal of existing pump, rail, base saddle, etc. Quantity: 10 UOM: Each Unit Price: \$1,503.96 Total: \$15,039).00
7 Removal of existing pump, rail, base saddle, etc. Quantity: 10 UOM: Each Unit Price: \$1,503.96 Total: \$15,039	
Quantity: 10 UOM: Each Unit Price: \$1,503.96 Total: \$15,039).00
8 Vacuum Pressure clean wet well	9.60
Quantity: 1 UOM: Hour Unit Price: \$300.00 Total: \$300.00).00
9 Removal of existing piping up to 10" in diameter	
Quantity: 10 UOM: Each Unit Price: \$2,154.00 Total: \$21,540).00
1 Removal of existing piping greater than 10" in diameter	
O Quantity: 10 UOM: Each Unit Price: \$2,406.00 Total: \$24,060).00
1 Install new piping and/or elbows up to 10" in diameter	
1 Quantity: 10 UOM: Each Unit Price: \$2,658.00 Total: \$26,580).00
1 Install new piping and/or elbows greater than 10" in diameter 6	
2 Quantity: 10 UOM: Each Unit Price: \$3,666.00 Total: \$36,660).00
1 Re- Install City's pump, rail, seals, saddle, base, pipes, etc.	
3 Quantity: 10 UOM: Each Unit Price: \$2,154.00 Total: \$21,540).00
1 Install new pump base (Supplied by the City)	
4 Quantity: 10 UOM: Each Unit Price: \$2,658.00 Total: \$26,580).00
1 6" thick concrete slab	
5 Quantity: 3 UOM: Per Yard of Concrete Unit Price: \$451.02 Total: \$1,353	3.06
1 Removal and replacement of 6' diameter Wet well top slab with aluminum double pedestrian access doors 6 48" opening	
6 48" opening Quantity: 1 UOM: Each Unit Price: \$8,390.11 Total: \$8,390	6" x

1 7	Removal and replacement of 8' diameter Wet well top slab with aluminum double pedestrian access doors 66" : 36" opening	х				
	Quantity: 1 UOM: Each Unit Price: \$9,684.38 Total: \$9,684.38	3				
1 8	Removal and replacement of 10' diameter Wet well top slab with aluminum double pedestrian access doors 66' x 48" opening					
	Quantity: 1 UOM: Each Unit Price: \$13,173.01 Total: \$13,173.07	1				
1 9						
	Quantity: 1 UOM: Each Unit Price: \$16,269.07 Total: \$16,269.07	7				
20	Valve vault remove and replacement 8' x 8' slab with aluminum double pedestrian access door 60" x 60" opening	g				
U	Quantity: 1 UOM: Each Unit Price: \$12,507.90 Total: \$12,507.90)				
2	Replacement on valves 4" x 6"					
1	Quantity: 4 UOM: Each Unit Price: \$1,264.80 Total: \$5,059.20)				
22	Replacement on valves 8" x 10"					
2	Quantity: 4 UOM: Each Unit Price: \$1,768.80 Total: \$7,075.20)				
23	Replacement on valves 12" x 16"					
3	Quantity: 4 UOM: Each Unit Price: \$2,272.80 Total: \$9,091.20)				
24	Crew for work not listed –Crew 2 person crew cost per hour					
4	Quantity: 1 UOM: Hour Unit Price: \$270.00 Total: \$270.00)				
25	Mobilization (equipment set-up, etc.) No more than 3% of the total job					
Э	Quantity: 1 UOM: Each Unit Price: \$2,599.94 Total: \$2,599.94	1				
2	Demobilization (back on line, plugs, restoration, etc.) No more than 2% of the total job.					
6	Quantity: 1 UOM: Each Unit Price: \$1,733.29 Total: \$1,733.29	9				

Response Total: \$328,533.96